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Jkcnnukaumsi NOMeLLEeHUN.
OOmas
Howmep [lnomans 138) () 116010
HaumeHnoBanue nomen.,
IIOMEIIL. 5 romel.
M 2
M
MomeweHne | (MecTa obLLEero NnonbL3oBaHUs )
1 JlecTHM4YHas kneTka 13.4
2 JIndbToBOM X0NN 18.7
3 Kopunao 26.6
P P 87.5
4 Kopugop 25.4
5 Y3en ynp.otons. 2.3
6 MNomelyeHune 1.1
KeapTtupa Ne51
1 Kopwngop 9.6
2 Tyanert 1.9
3 BaHHas 4.2
4 >Kunasi komHaTa 10.2
68.6
5 >Kunasi komHaTa 12.3
6 >Knnas komHaTta 10.9
7 KyxHsi-cTonoBas 19.5
8 BbankoH (k=1/k=0,3) 4.8/1.4
9 bankoH (k=1/k=0,3) 3.1/0.9 |76.5/70.9
KBapTtupa Ne52
1 Mpuxoxas 5.2
2 | CaHysen 4.6
3 KyxHs-cTonoBsag 17.3
51.6
4 Kopuaop 1.6
5 >Knnas komHaTta 11.4
6 >Knnas komHaTta 11.5
7 |BankoH (k=1/k=0,3) 5.9/1.8 |57.5/53.4
KBaptunpa Ne53
1 Kopugop 5.6
2 >Knnas komHaTta 13.6
42.1
3 KyxHsi-cTonoBas 19.0
4 |CaHysen 3.9
5 |bankoH (k=1/k=0,3) 7.3/2.2 |49.4/44.3
KBapTtupa Neb54
1 Kopugop 7.5
2 | CaHysen 4.0
33.7
3 KyxHs 9.1
4 YKnnasa komHaTta 13.1
5 |BbankoH (k=1/k=0,3) 5.0/1.5 |38.7/35.2
KBapTtupa Ne55
1 Kopugop 7.2
2 >Kunasi komHaTa 13.0
33.1
3 KyxHs 9.1
4 | CaHysen 3.8
5 |bankoH (k=1/k=0,3) 4.6/1.4 |37.7/134.5
KBaptnpa Ne56
1 Kopuaop 7.4
2 >Knnas komHaTta 12.9
33.4
3 KyxHs 9.1
4 | CaHysen 4.0
5 bankoH (k=1/k=0,3) 5.1/1.5 |38.5/34.9
KeBapTtupa Ne57
1 Kopugop 7.5
2 | CaHysen 4.0
33.6
3 KyxHs 9.1
4 >Kunasi komHaTa 13.0
5 |BbankoH (k=1/k=0,3) 5.1/1.5 |38.7/35.1
KBapTtunpa Ne58
1 Kopugop 7.5
2 >Kunasi komHaTa 13.1
33.9
3 KyxHs 9.3
4 | CaHysen 4.0
5 |bankoH (k=1/k=0,3) 3.0/0.9 |36.9/34.8
KBapTtmnpa Ne59
1 Kopugop 10.3
2 | CaHysen 3.9
46.8
3 KyxHsi-cTonoBas 18.9
4 >Kunasi komHaTa 13.7
5 BankoH (k=1/k=0,3) 6.8/2.0 |53.6/48.8
KeapTtupa Ne60
1 [Mpnxoxas 4.5
2 |Kopugop 5.8
3 CaHysen 4.2
4 YKunasi komHaTa 10.1 64.5
5 >Knnas komHaTta 12.3
6 >Knnas komHaTta 11.1
7 KyxHsi-cTonoBas 16.5
8 BankoH (k=1/k=0,3) 5.9/1.8 |70.4/66.3
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